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i mport "github. com gogf/gf/v2/ net/gtcp"”
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https://pkg.go.dev/github.com/gogf/gf/v2/net/gtcp

type Pool Conn

func NewPool Conn(addr string, tineout ...int) (*Pool Conn, error)

func (c *Pool Conn) O ose() error

func (c *Pool Conn) Recv(length int, retry ...Retry) ([]byte, error)

func (c *Pool Conn) RecvLine(retry ...Retry) ([]byte, error)

func (c *Pool Conn) RecvPkg(option ...PkgOption) ([]byte, error)

func (c *Pool Conn) RecvPkgW t hTi meout (tineout tine.Duration, option ...
PkgOption) ([]byte, error)

func (c *Pool Conn) RecvWthTi neout (I ength int, timeout tine.Duration,
retry ...Retry) (data []byte, err error)

func (c *Pool Conn) Send(data []byte, retry ...Retry) error

func (c *Pool Conn) SendPkg(data []byte, option ...PkgOption) (err
error)

func (c *Pool Conn) SendPkgW t hTi neout (data []byte, timeout tine.
Duration, option ...PkgOption) error

func (c *Pool Conn) SendRecv(data []byte, receive int, retry ...Retry)
([]byte, error)

func (c *Pool Conn) SendRecvPkg(data []byte, option ...PkgOption) ([]
byte, error)

func (c *Pool Conn) SendRecvPkgWt hTi meout (data []byte, tinmeout tine.
Duration, option ...PkgOption) ([]byte, error)

func (c *Pool Conn) SendRecvW t hTi neout (data []byte, receive int,
tinmeout tinme.Duration, retry ...Retry) ([]byte, error)

func (c *Pool Conn) SendWthTi meout (data []byte, timeout tine.Duration,
retry ...Retry) error
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https://pkg.go.dev/github.com/gogf/gf/v2/net/gtcp

package main

inmport (
p
“time"
"gi t hub. conf gogf/ gf/v2/ net/gtcp"
"gi t hub. conf gogf/ gf / v2/ os/ gl og"
" gi t hub. conf gogf/gf/v2/ os/gtine"

)

func main() {
Il Server
go gtcp. NewServer ("127.0.0.1:8999", func(conn *gtcp. Conn) {
defer conn. d ose()
for {
data, err := conn.Recv(-1)
if len(data) > 0 {
if err := conn. Send(append([]byte("> "), data...)); err I=

nil {
frt.Printin(err)

}

}

if err I'=nil {
br eak

}

}
}) . Run()

tinme. Sl eep(time. Second)

/1 dient
for {
if conn, err := gtcp. NewPool Conn("127.0.0.1:8999"); err == nil {
if b, err := conn.SendRecv([]byte(gtine.Datetine()), -1); err
==nil {

frt.Println(string(b), conn.Local Addr(), conn. RenoteAddr())
} else {
frt.Printin(err)

conn. d ose()
} else {
gl og. Error(err)

}
time. Sl eep(tinme. Second)

ServergoroutineClientmain goroutineServerClient1ServerServerClient

> 2018-07-11 23:29:54 127.0.0.1: 55876 127.0.0. 1: 8999
> 2018-07-11 23:29:55 127.0.0. 1: 55876 127.0.0. 1: 8999
> 2018-07-11 23:29:56 127.0.0.1:55876 127.0.0. 1: 8999
> 2018-07-11 23:29:57 127.0.0.1:55876 127.0.0. 1: 8999
> 2018-07-11 23:29:58 127.0.0. 1: 55876 127.0.0. 1: 8999

Clientgt cp. NewConn("127. 0. 0. 1: 8999") gt cp. Connconn. C ose()
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package main

inmport (
p
“time"
"gi t hub. conf gogf/ gf/v2/ net/gtcp"
"gi t hub. conf gogf/ gf / v2/ os/ gl og"
" gi t hub. conf gogf/gf/v2/ os/gtine"
)

func main() {
Il Server
go gtcp. NewServer ("127.0.0.1:8999", func(conn *gtcp. Conn) {
defer conn. d ose()
for {
data, err := conn.Recv(-1)
if len(data) > 0 {
if err := conn. Send(append([]byte("> "), data...)); err I=

nil {
frt.Printin(err)

}

}

if err I'=nil {
br eak

}

return

}
}). Run()

tinme. Sl eep(time. Second)

/1 Cient
for {
if conn, err := gtcp. NewPool Conn("127.0.0.1:8999"); err == nil {
if b, err := conn.SendRecv([]byte(gtinme.Datetine()), -1); err

== nil {
fnt.Println(string(b), conn.Local Addr(), conn. RenoteAddr())
} else {
fmt.Println(err)
}
conn. C ose()
} else {
gl og. Error(err)
}

tine. Sl eep(tine. Second)

> 2018-07-20 12:56:15 127.0.0. 1: 59368 127.0.0. 1: 8999
ECF
> 2018-07-20 12:56:17 127.0.0.1:59376 127.0.0. 1: 8999
ECF
> 2018-07-20 12:56:19 127.0.0.1:59378 127.0.0. 1: 8999
EOF

ServerClientlOServerServerEOFClientCl osegt cp. NewPool ConnClientServerClientgt cp. Conn
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